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	Set 1
	Set 2
	Set 3
	Set 4
	Set 5
	Set 6
	Set 7
	Set 8
	Set 9
	Set 10

	1
	Substitution
	
	
	
	
	
	
	
	
	
	

	2
	simplifying expressions
	
	
	
	
	
	
	
	
	
	

	3
	rounding & estimation
	
	
	
	
	
	
	
	
	
	

	4
	solving equations
	
	
	
	
	
	
	
	
	
	

	5
	area, perimeter &  volume
	
	
	
	
	
	
	
	
	
	

	6
	fraction, decimal & percentages
	
	
	
	
	
	
	
	
	
	

	7
	mean, mode, median & range
	
	
	
	
	
	
	
	
	
	

	8
	
	
	
	
	
	
	
	
	
	
	

	9
	
	
	
	
	
	
	
	
	
	
	

	10
	fractions & percentage calculation
	
	
	
	
	
	
	
	
	
	


	Revision Set 1

	1
	If y=4x + 5, 

What is y when i)x= 3, and ii) x= -3                                                  
	

	2
	simplify a x a + b x b
	

	3
	write this number correct to 1 decimal place: 9.424
	

	4
	solve this equation: 3x + 1 = 7
	

	5
	Find the volume of:
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	6
	change this fraction to a decimal: 

8

10
	

	7
	find the (i) mean and (ii) median of:

9, 5, 8, 7, 6
	

	8
	write down the first four terms of the sequence:

3n
	

	9
	rotate the shape through 1800 about (0, 0) and draw the image on the grid.
	[image: image9.png]





	10
	calculate 10% of £240
	


	Revision Set 2

	1
	If t= r² + 3,

What is t when i) r=4  and ii) r= -4
	

	2
	simplify 2a + 3b – 2b + 3a
	

	3
	write this number correct to 1 significant figure: 29877
	

	4
	solve this equation: 13 = 3x + 1
	

	5
	find the area of:
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	6
	At a school, 3/5 of the staff are female. What percentage is this?
	

	7
	find the modal mark for:

mark

1

2

3

4

5

6

frequency

0

1

3

0

6

5


	

	8
	find the 10th term of the sequence:

2, 4, 6, 8,…
	

	9
	rotate the shape through 900 clockwise about (0, 0) and draw the image on the grid.
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	10
	calculate 3 of £80

              5
	

	Revision Set 3

	1
	If w= 10 – 2v

What is w, when i) v=2 and ii) v= -2
	

	2
	simplify a2 + 3b2 – 2a2 –b2
	

	3
	write this number correct to the nearest integer: 42.5
	

	4
	solve this equation: 5x – 11 = 24
	

	5
	find the perimeter of this shape:
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	6
	write three fractions that are the same as 40%
	

	7
	find the range of:

75, 78, 89, 84, 81, 72, 74, 78
	

	8
	write down the first four terms of the sequence:

n + 2
	

	9
	translate the image 4 squares to the left and 3 squares down
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	10
	calculate 15% of £28
	


	Revision Set 4

	1
	If a=b²+ b³,

What is a, when i) b= 3 and ii) b= -3
	

	2
	simplify 3a – 4b + 2a – 2b
	

	3
	write this number correct to 2 decimal places:  3.658
	

	4
	solve this equation: 15 = 2x - 3
	

	5
	find the volume of:
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	6
	change this fraction to a decimal: 

7

20
	

	7
	find the (i) mean and (ii) median of:

1, 9, 8, 4, 3
	

	8
	find the 10th term of the sequence:

1, 3, 6, 10,…
	

	9
	translate the shape 2 squares to the right and 4 squares up
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	10
	calculate 5 of 56 cm

              8
	


	Revision Set 5

	1
	If g= 4j – j

What is g, when i) j=5 and ii) j= -5
	

	2
	simplify a + 3b – b + 2a – 3a – 2b
	

	3
	write this number correct to the nearest 10:  3267
	

	4
	solve this equation: 5x – 3 = -5
	

	5
	find the perimeter of:
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	6
	write this percentage as a decimal:
0.06
	

	7
	find the mean mark for:

mark

1

2

3

4

5

6

frequency

4
1

3

0

6

5


	

	8
	write down the first four terms of the sequence:

2n - 1
	

	9
	rotate the shape 1800 clockwise about (0, 0)
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	10
	calculate 3 of 12

              5
	


	Revision Set 6

	1
	If p= q²+ q³- 1

What is p, when i) q=5 and ii) q= -5
	

	2
	simplify 2a x b + a x 3b
	

	3
	write this number correct to 2 significant figures:  3468
	

	4
	solve this equation: 15 = 4x + 5
	

	5
	find the area of this shape:
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	6
	put these numbers in order, smallest first:

3       35%       0.45        2
8                                   5
	

	7
	find the modal score for:

score

11

12

13

14

15

16

frequency

1

2

8

3

6

5


	

	8
	find the 10th term of the sequence:

1.2, 1.5, 1.8, 2.1,…
	

	9
	rotate the shape 900 anticlockwise about (0, 0)


	

	10
	calculate 30% of £48
	


	Revision Set 7

	1
	If b= 5d – 10

What is b, when i) d=7 and ii) d= -7
	

	2
	simplify p x q x p2 x q
	

	3
	write this number correct to 1  significant figure:  7.21
	

	4
	solve this equation: 2x + 7 = 4
	

	5
	find the perimeter of



	

	6
	change this fraction to a percentage:

19

20
	

	7
	find the median mark for:

mark

1

2

3

4

5

6

frequency

0

1

3

0

6

5


	

	8
	find the 100th term of the sequence:

1, 3, 5, 7,..
	

	9
	rotate the shape 900 anticlockwise about (0, 0)


	

	10
	calculate 3  of 6 litres

              5
	


	Revision Set 8

	1
	If p= 3q²

What is p, when i) q=2 and ii) q= -2
	

	2
	simplify pq2 x pq
	

	3
	write this number correct to 1 decimal place:  3.725
	

	4
	solve this equation: -7 = 2x + 5
	

	5
	find the volume of:


	

	6
	write three fractions that are the same as 60%
	

	7
	find the mean score for:

score

11

12

13

14

15

16

frequency

0

2

5

2

1

0


	

	8
	write down the first four terms of the sequence:

n - 2
	

	9
	rotate the shape 1800 about (0, 0)


	

	10
	calculate 35% of £70
	


	Revision Set 9

	1
	If m= 10 - n²

What is m, when i) n=3 and ii) n= -3
	

	2
	simplify 2a x 3b
	

	3
	estimate the answer to 5.89 x 1.86
	

	4
	solve this equation: 3x – 7 = 8
	

	5
	find the area of:


	

	6
	put these numbers in order, smallest first:
3       30%       0.7        3
5                                 4
	

	7
	find the median score for:

score

11

12

13

14

15

frequency

1

2

8

3

6


	

	8
	find the 100th term of the sequence:

2, 5, 8, 11,….
	

	9
	rotate the shape 900 anticlockwise about (0, 0)


	


	10
	calculate 2 of 180

              3
	


	Revision Set 10

	1
	If y= x³- x²

What is y, when i) x=5 and ii) x= -5
	

	2
	simplify a2 + 2a – 3a - 6
	

	3
	estimate the answer to 289 ÷ 86
	

	4
	solve this equation: 20 = 5x + 2
	

	5
	find the area of this shape where each side is 4cm:


	

	6
	write this percentage as a decimal:

0.01
	

	7
	find the median of:
8, 4, 6, 2
	

	8
	write down the first four terms of the sequence:

6n - 5
	

	9
	translate the shape 3 squares to the left and 1 square up

	

	10
	calculate 17½% of 380
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